¥ FLFT ‘;’mﬂ""' ""’3‘”&')“; a1 yo g2ild Jluod Colw 49 W Mgw dolisuwly 8 glits (o1
gl jlind

hdaneshjoo.ir

AF—AL Jol Jluos

Direction: Choose the best choice (a, b, c, or d) and mark it on your answer sheet.

1- How was the grouping of the students? The ........... of students was based on tall and
short ones.
a) bunch b) efficiency c) implementation d) classification

2- The boss ........... a lot of recreation of employees. He made a new recreation for them.
a) stimulated b) created ¢) sought d) explored

3- Did the factory make a lot of good silky goods? Yes, it ........... a lot of good silky goods.
a) produced b) sustained ¢) served d) matched

4- Did he consider to work hard for his lessons? Yes, he ........... it wise to study hard.
a) motivated b) planned ¢) deemed d) organized

S- Is the labor usually stay hidden behind the machines? Yes, he is usually ........... behind them.
a) blurring b) dealing ¢) meeting d) lurking

6- Was it his natural ability to make him a successful man? Yes, his ........... made him a
successful man.
a) aptitude b) appropriate ¢) confident d) demanding

S made by top management for the organization as a whole may cover periods of
four or five years.
a) Demands b) Plans ¢) Products d) Crafts

8- What was the aim of soldiers in the war? Their ........... was victory.
a) resource b) skill c) objective d) aspect

9- The act of predisposing people to behave in particular way is called ........... .
a) motivating b) persuading ¢) requiring d) satisfying

10- Managers can work better by using organized knowledge about ........... .
a) regulation b) industry ¢) manufacturing d) management

11- Did you put in order your business affairs before going away? Yes,
| [T them before going away.
a) engaged b) arranged ¢) initiated d) offered

12- How do they carry the goods from factory to market-place? They ........... them by lorry.
a) convey b) achieve ¢) allocate d) assign

13- Was the work performed successfully? Yes, the .......... of the work was done
successfully.
a) precision b) state C) process d) production

14- Did he do his job perfectly? No, it was found to be an irritable ....... .
a) task b) theory ¢) work d) effort

15- Did he face any problem in the company? Yes, he ........... many difficulties in the
company.
a) evaluated b) involved ¢) suffered d) encountered

16- If you want to buy the car, you will calculate the cost of it roughly. Yes, I want to buy
that car and my friend will ........... the cost of the car.
a) sell up b) estimate ¢) match d) offer

17- How are people saved in the explosion of factory? There is little ........... of their life.
a) risk b) prospect c) effort d) force

18- There is a ........... waste of time by the workers. They have a complete laziness.

a) massive b) shadowy ¢) sheer d) clear-cut
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17- viuence muicaies that groups make better-quality decisions than ........... .
a) individual b) behavior c) employee d) leadershi
20- For ........... to motivate an individual performance, certain important condition must be
met, because financial tools are very important.
a) reward b) money c) goal d) job
21- Do you get a reward at the end of the year by the government? Yes, the government
offers a.......... to the employees at the end of the year.
a) fund b) benefit c) rate d) bonus
22- Is the condition of the workplace good? No, the ........... of the workplace is not
satisfactory.
a) effort b) function ¢) environment d) policy
23-When you keep yourself from doing something, you ........... from doing that.
a) refrain b) adapt c) drive d) roll
24- was your new condition suitable for you? I ........... to it very easily.
a) sustained b) adapted c) conflicted d) improved
25- Why did the employee complain in a bad tempered way? He ........... at the low pay
offered to him.
a) stimulated b) assessed c¢) grumbled d) intrigued
26- What is the desire of the worker that drives him to work hard? His ........... is to get
more money.
| a) motive b) resource ¢) routine d) diagnosis
27- Why did the worker made so many mistakes in his job? The reason for his mistakes is
that he has no ........... in his job.
u a) attendance b) concentration ¢) career d) policy
| 28- There is no balance between my intrinsic rewards and ........... ones.
| a) impedance b) extrinsic ¢) professional d) initiative
| 29- Organization work hard to estimate the .......... inherent in their decisions, or the
possibility of meeting danger.
a) certainty b) ambiguity ¢) risk d) uncertainty
30- A person under stress may not ........... his own motives so he can not find it out.
a) understand b) concern c) direct d)

devise

Translate the following passages into Persian.

1- A process is a systematic way of doing things. We define management as a process because
all mangers, regardless of their particular aptitudes or skills, engage in certain interrelated
activities in order to achieve their desired goals. We will briefly describe four main
management activities or functions.

2- Public administration is the process of implementing those divers values in our complex and
ever-changing society and therefore plays a vital role in the daily of all citizens.

3- Administrative Decisions: these decisions arise from, and are subject to the conflicting
demand of strategic and operating problems. They are essentially concerned with settling the
organization’s structure e.g. by establishing lines of authority and communication.

4- Performance depends on three factors: ability, environment, and motivation. If employees
have the necessary abilities, are supported by their organizational environment, and are
adequately motivated, they have the best chance of meeting their goals.
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